ooobooobooinoooo 10 '07/5/1400000

goobodbogobogbbouobboobuoobbogbobooboon
gbbbuoodgobboooobbooodd

(3a—b—c+d=0, r+ 3y —z= -3,
2a4+2b+2c—d = —T, x4+ 2y —2z4 3w =1,
1) < 2
) a—2b+c—d=25, ) 3r —2y+ 3z —w = -2,
[ 2a —3b—2c+d = 6. r—3y+2z=-3.
'31’1—1‘2—1’3—51‘4:11,
.’L'1+£IJ'2+.T3:1,
(E1—3$2—3I3+(L‘4:1,
3) 4) T+ 2x9 + 223 = 1,
T, — 2x0 + x3 — 324 = 5,
) ; ) ) o r1+ 32+ (3+t)zs =1,
e 0000 +00000000
Ooo0o
1) 0000 ADODO0DOODOOO0OODOO0ODODOO0O0OOOO0OOooOoOOooOOO
0000000000000 000D0DODADO0DOOODODOOODDO
000000000 000oooDOo0oDobD00oooOoOooOooooDooDn
000000000000 000D0ADOO0OOO0DODODOO0O0O0DODOO000
0000000000000 0DooOo00ooooooon
3 1 1
2) A=|1 2 1 |00001)ODOODODOOODOOOOOODODOOOOOOOO
2 1 1
000 A000D000D00000O000D0O000O000D0O00DO00 AQd
O00oo0O0000oDooooOoooo
C1 T
DDDA:(aij)KKmD(mxn)—DD,w: : eR"O000v = : eR"”

OO000Db0000w=A4Av00000

1)

A0O0/000 j0000000 A D000000O0D0WMDOO0O4#40
O0MO000 w=A»000000 w=Av000d z;0 x; 000
goooobooooooood

AO0O:00 NO00DO00O XN#00DO0 A O000D0ODOOQOOOOOOO
w=AvO0OOOOOw=Av0000 2,0 ); D0ODOD0OO0OOO
ogooooo

A00:000 j00 p00000ADODO0O0ODOODOODDOOOd#750
O0MO000 w=A000000 w=Av0000 z; 0 pz; +2; 0
godooboooooooooon



00000000 2),3)0000000000000000O0O0OOOO
0000000 1)0000000000000000000000000OOAO A'D
000000000000000000 A =AQG,j) 0000000000000
00000000 w=Avw0 w=AQ(:,j)pv00000000000O0OO0O0OO
000 00 QG,j)y 0000000000000 0QR>G,H)vD 00000 ;0
0,002, 00000000000000000000D000w=A»0000
w=Av0000 ;0 z; 000000000000

00000000 1),2),3)0000000000000000 w=A»0O0O0O
OO000Dw=Av00000000000
O00w=Av000000000D00CO00O0OCO00O0O0ODODOOO0O0O0OODOOO

oooboboboooooooboboboooooooooobobobobob
googboobobooboboboobboobuoobboobboobooboon
gbooboboogbbbooobbboogobboogbobbuooobmooon
gobogboobbobboobodouobobbooboobboobbobb
obobooboobooboobon

0oO
Uﬂ@DDDDDVﬂwu:{C)eRQ
y

0000000ab 000000 VOOOROODO0O00D000OO
0ooooooo
D000ar+by=c0000000000000000000000 VO
0000000000000000000000

2) (z,y) eR200000000000

{a1£€ + b1y = cu,

a$+by:c}DDDDDDDDDa,b,c

asx + boy = ca,

000, ay,a,bi,bz,c1,c0000, 0
1) Doooooooo

2) J0000ooooOo
3) Doouooooog

OOooooooooboooooobooobUOUdaiz+biy = c1, acx+boy = co
000 R200000V, V,00000000000V, V,000000
gooo

0001) 000000000V, V,00000000000000002)0
gobbbooogbboboooobbbao

goobo



